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Assessment Task

Questions:
1.
Consider the array of dots in the following diagram:
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These numbers are known as the triangular numbers. 


a)
For this sequence of numbers, complete the table below:
	Picture number
	1
	2
	3
	4
	5
	6
	9

	Number of dots
	1
	3
	6
	
	
	
	



b)
If we look at the number of dots, each can be written as the sum of consecutive integers. Use this characteristic to complete the table below:

	Term number
	Number of dots
	Structure in each term

	1
	1
	1

	2
	3
	1 + 2

	3
	6
	1 + 2 + 3

	4
	10
	1 + 2 + 3 + 4

	5
	15
	

	11
	
	

	15
	
	



c)
From the structure it is clear to see that 
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. How can we write the nth term, 
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d)
Describe how you found the value of T11 and T15.

Solution
1.
a)

	Picture number
	1
	2
	3
	4
	5
	6
	9

	Number of dots
	1
	3
	6
	10
	15
	21
	45



b)


	Term number
	Number of dots
	Structure in each term

	1
	1
	1

	2
	3
	1 + 2

	3
	6
	1 + 2 + 3

	4
	10
	1 + 2 + 3 + 4

	5
	15
	1+2+3+4+5

	11
	66
	1+2+3+....+11

	15
	120
	1+2+3+....+15



c)
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d)
For 
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we simply add the first 11 numbers and for 
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 we add the first 15 numbers.
The values in the table are also not always consecutive and this forces the learners to think structurally.

Appendix of Assignment Tools

Graphs
Functions
Number pattern
Input / Output relationships in graphs
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